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SECTION – 1  (MAXIMUM MARKS: 12)

• This section contains FOUR (04) question stems.

• Each question has FOUR options (A), (B), (C) and (D). ONLY ONE of these four options is the correct

answer.

• For each question, choose the option corresponding to the correct answer.

• Answer to each question will be evaluated according to the following marking scheme:

Full Marks :  +3  ONLY  the correct option is chosen;

Zero Marks :  0   If none of the options is chosen (i.e. the question is unanswered);

Negative Marks :  –1   In all other cases.

1. According to Bohr’s model, the highest kinetic energy is associated with the electron in the

(A) first orbit of H atom (B) first orbit of He+

(C) second orbit of He+ (D) second orbit of Li2+

cksj ekWMy (Bohr's model) ds vuqlkj] vf/kdre xfrt ÅtkZ (kinetic energy) okyk bysDVªkWu gS

(A) H ijek.kq dh izFke d{kk eas bysDVªkWu (B) He+ dh izFke d{kk esa bysDVªkWu

(C) He+ dh nwljh d{kk esa bysDVªkWu (D) Li2+ dh nwljh d{kk esa bysDVªkWu

Ans. B

Sol. K.E. = 
2

2
13.6

Z
eV

n


(A) K.E. = 
 
 

2

2

1
13.6 13.6

1
eV 

(B) K.E. = 
 
 

2

2

2
13.6 54.4

1
eV 

(C) K.E. = 
 
 

2

2

2
13.6 13.6

2
eV 

(D) K.E. = 
 
 

2

2

3
13.6 30.6

2
eV 



Question Paper With Text Solution (Chemistry)
JEE Adv. May 2024 | 26 May Paper-2

Page No. 3

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

2. In a metal deficient oxide sample, M
X
Y

2
O

4
 (M and Y are metals), M is present in both +2 and +3 oxidation

states and Y is in +3 oxidation state. If the fraction of M2+ ions present in M is 
1

3
, the value of X is _____.

,d /kkrq U;wu (metal deficient) vkWDlkbM M
X
Y

2
O

4
 (M rFkk Y /kkrq gSa) ds uewus esa M, +2 vkSj +3 vkWDlhdj.k voLFkkvksa

esa rFkk Y, +3 vkWDlhdj.k voLFkk esa mifLFkr gSA ;fn M2+ dk M esa va'k 
1

3
 gS] rks X dk eku _____ gSA

(A) 0.25 (B) 0.33 (C) 0.67 (D) 0.75

Ans. D

Sol. Total –ve charge = Total +ve charge

 
arg arg

arg

2
2 4 2 3 2 3

3 3Ch eon Ch eon
Oxygen Y

Ch eon
M

x x
      



2
8 6 2

3

x
x  

8
2

3

x


6
0.75

8
x  

3. In the following reaction sequence, the major product Q is

fuEufyf[kr vfHkfØ;k ds vuqØe esa] izeq[k mRikn Q gS

L-Glucose
(i) HI, 

(ii) Cr O , 775 K,
      10-20 atm

2 3

P
Cl  (excess)2

UV
Q

(A) 

Cl

Cl

Cl

Cl

Cl

Cl

(B) 

Cl

ClCl

Cl

(C) 

Cl

Cl

(D) 

Cl

Cl

Cl

Cl

Cl

Cl

Ans. D

Sol. L-Glucose
HI/ 

n-hexane

Cr O , 775 K,
10-20 atm

2 3

Cl  (excess)2

UV

Cl

Cl

Cl

Cl

Cl

Cl
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4. The species formed on fluorination of phosphorus pentachloride in a polar organic solvent are

(A) [PF
4
]+[PF

6
]– and [PCl

4
]+[PF

6
]– (B) [PCl

4
]+[PCl

4
F

2
]– and [PCl

4
]+[PF

6
]–

(C) PF
3
 and PCl

3
(D) PF

5
 and PCl

3

QkWLQksjl isaVkDyksjkbM (phosphorus pentachloride) dk ,d dkcZfud /kzqoh; foyk;d (organic polar solvent) esa ¶yksjhus'ku

(fluorination) djus ij cuus okys Lih'khT+k (species) gSa

(A) [PF
4
]+[PF

6
]– rFkk [PCl

4
]+[PF

6
]– (B) [PCl

4
]+[PCl

4
F

2
]– rFkk [PCl

4
]+[PF

6
]–

(C) PF
3
 rFkk PCl

3
(D) PF

5
 rFkk PCl

3

Ans. B

Sol. In polar solvent PCl
5 
is fluorinated and ionic isomers [PCl

4
]+ [PCl

4
F

2
]– & [PCl

4
]+ [PF

6
]– are formed.

SECTION – 2  (MAXIMUM MARKS: 12)

• This section contains THREE (03) question stems.

• Each question has FOUR options (A), (B), (C) and (D). ONE OR MORE THAN ONE of these four

option(s) is (are) correct answer(s).

• For each question, choose the option(s) corresponding to (all) the correct answer(s).

• Answer to each question will be evaluated according to the following marking scheme:

Full Marks : +4  ONLY  if (all) the correct option(s) is(are) chosen;

Partial Marks : +3 If all the four options are correct but ONLY three options are chosen;

Partial Marks : +2 If three or more options are correct but ONLY two options are chosen, both of

which are correct;

Partial Marks : +1 If two or more options are correct but ONLY one option is chosen and it is

acorrect option;

Zero Marks :  0 If unanswered;

Negative Marks : –2 In all other cases.

• For example, in a question, if (A), (B) and (D) are the ONLY three options corresponding to correct answers,

then

choosing ONLY (A), (B) and (D) will get +4 marks;

choosing ONLY (A) and (B) will get +2 marks;

choosing ONLY (A) and (D) will get +2marks;

choosing ONLY (B) and (D) will get +2 marks;

choosing ONLY (A) will get +1 mark;
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choosing ONLY (B) will get +1 mark;

choosing ONLY (D) will get +1 mark;

choosing no option(s) (i.e. the question is unanswered) will get 0 marks and choosing any other option(s) will

get -2 marks.

5. An aqueous solution of hydrazine (N
2
H

4
) is electrochemically oxidized by O

2
, thereby releasing chemical

energy in the form of electrical energy. One of the products generated from the electrochemical reaction is

N
2
(g).

Choose the correct statement(s) about the above process

(A) OH– ions react with N
2
H

4
 at the anode to form N

2
(g) and water, releasing 4 electrons to the anode.

(B) At the cathode, N
2
H

4
 breaks to N

2
(g) and nascent hydrogen released at the electrode reacts with oxygen

to form water.

(C) At the cathode, molecular oxygen gets converted to OH–.

(D) Oxides of nitrogen are major by-products of the electrochemical process.

gkbMªSfT+ku (hydrazine) ds ,d tyh; foy;u dk O
2 

}kjk fo|qr jklk;fud vkWDlhdj.k djus ij (electrochemically

oxidized) jklk;fud ÅtkZ fo|qr ÅtkZ ds :i esa fudyrh gSA bl fo|qr jklk;fud vfHkfØ;k ls mRiUu gksus okys mRiknksa esa

ls ,d mRikn N
2
(g) gSA

Åij nh x;h izfØ;k ds fy, lgh dFku ¼dFkuksa½ dk p;u djsa

(A) ,uksM ij] OH– vk;u N
2
H

4 
ls vfFkfd;k djds N

2
(g) vkSj ty cukrs gS] ftlls 4 bysDVªkWUl ,uksM ij tkrs gSA

(B) dSFkksM ij] N
2
H

4 
ds VwVus ls N

2
(g) curh gS vkSj uotkr (nascent) gkbMªkstu bysDVªksM ij fudyrh gS] tkr fd

vkWDlhtu ls vfHkfØ;k djds ty cukrh gSA

(C) dSFkksM ij] v.kqd (molecular) vkWDlhtu dk ifjorZu OH– esa gksrk gSA

(D) fo|qr jklk;fud vfHkfØ;k (electrochemical process) ds izeq[k lgmRikn ukbVªkstu ds vkWDlkbM~l gSaA

Ans. AC

Sol.

N H2 4 + O N + H O2                  2 2

Reduction of ‘O’

Oxidation of ‘N’

At cathode :
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2 22 4 4O H O e OH


  

At Anode :

2 4 2 24 4 4N O OH N H O e


   

6. The option(s) with correct sequence of reagents for the conversion of P to Q is(are)

O

CO H2

CHO

HO

HO Q

reagentsCO Et2

CN

O
O

H C3

(A) i) Lindlar’s catalyst, H
2
; ii) SnCl

2
/HCl; iii) NaBH

4
; iv) H

3
O+

(B) i) Lindlar’s catalyst, H
2
; ii) H

3
O+; iii) SnCl

2
/HCl; iv) NaBH

4

(C) i) NaBH
4
; ii) SnCl

2
/HCl; iii) H

3
O+; iv) Lindlar’s catalyst, H

2

(D) i) Lindlar’s catalyst, H
2
; ii) NaBH

4
; iii) SnCl

2
/HCl; iv) H

3
O+

P dks Q esa ifjofrZr djus ds fy, vfHkdkjdksa (reagents) ds lgh vuqØe okyk ¼okys½ fodYi gS ¼gSa½

O

CO H2

CHO

HO

HO Q

reagentsCO Et2

CN

O
O

H C3

(A) i) fyUMykj vfHkdeZd] H
2
; ii) SnCl

2
/HCl; iii) NaBH

4
; iv) H

3
O+

(B) i) fyUMykj vfHkdeZd] H
2
; ii) H

3
O+; iii) SnCl

2
/HCl; iv) NaBH

4

(C) i) NaBH
4
; ii) SnCl

2
/HCl; iii) H

3
O+; iv) fyUMykj vfHkdeZd] H

2

(D) i) fyUMykj vfHkdeZd] H
2
; ii) NaBH

4
; iii) SnCl

2
/HCl; iv) H

3
O+

Ans. CD
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Sol.

O

O
C CH3 

O

COOEt

CN
SnCl /HCl2

O

O

O

C CH3 

COOEt

CHO

NaBH4

OH

O
C CH3 

O

COOEt

CH2

–O

H O3

+

OH

OH

COOH

CH OH2

O

O
C CH3 

O

CO Et2

CN

Lindlar’s catalyst

A  

O

O

O

O

C

C

CH

CH

3 

3 

O

O

COOEt

COOH

CN

COOH

O

O
C CH3 

O

COEt2

CN

Lindlar’s catalyst

H O3

+

SnCl /HCl2

No reaction

B
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C

NaBH4

SnCl /HCl2

H O3

+

Lindlar’s catalyst

OH

HO

COOH

CHO

O

CO Et2

CN

O

O

O

O

O

O

H C3

H C3

H C3

OH

OH

OH

CO Et2

CO Et2

COOH

CN

CHO

CHO
HO

                       

O

HO

HO

HO

O

O

O

HO

C

C

C

CH3 

CH3 

CH3 

O

O

O

COOEt

COOEt

COOEt

COOH

CN

CN

CHO

CHO

NaBH4

SnCl /HCl2

H O3

+

O

O
C CH3 

O

CO Et2

CN

Lindlar’s catalyst

D



Question Paper With Text Solution (Chemistry)
JEE Adv. May 2024 | 26 May Paper-2

Page No. 9

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

7. The compound(s) having peroxide linkage is(are)

ijvkWDlkbM (peroxide) ca/krk (linkage) okyk ¼okys½ ;kSfxd gS ¼gSa½

(A) H
2
S

2
O

7
(B) H

2
S

2
O

8
(C) H

2
S

2
O

5
(D) H

2
SO

5

Ans. BD

H S O  : 2 2 7
H – O – S – O – S – O – H

O O

O O

H S O  : 2 2 8
H – O – S – O – O – S – OH

O O

O O

H S O  : 2 2 5
H – O – S – S – OH

O O

O

H SO  : 2 5
H – O – S – O – O – H

O

O

SECTION – 3  (MAXIMUM MARKS: 24)

• This section contains SIX (06) question stems.

• The answer to each question is a NON-NEGATIVE INTEGER.

• For each question, enter the correct integer corresponding to the answer using the mouse and the onscreen

virtual numeric keypad in the place designated to enter the answer.

• Answer to each question will be evaluated according to the following marking scheme:

Full Marks :  +4 If ONLY the correct integer is entered;

Zero Marks :  0   In all other cases.
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8. To form a complete monolayer of acetic acid on 1g of charcoal, 100 mL of 0.5 M acetic acid was used. Some

of the acetic acid remained unadsorbed. To neutralize the unadsorbed acetic acid, 40 mL of 1 M NaOH

solution was required. If each molecule of acetic acid occupies P × 10–23 m2 surface area on charcoal, the value

of P is _____.

[Use given data: Surface area of charcoal = 1.5 × 102 m2g–1; Avogadro’s number (N
A
) = 6.0 × 1023 mol–1]

1 xzke pkjdksy ij ,flfVd ,flM (acetic acid) dh ,d iw.kZ ,dk.kqd lrg (monolayer) ds fuekZ.k ds fy, 0.5 M ,flfVd

,flM (acetic acid) ds 100 mL dk mi;ksx fd;k x;kA dqN ,flfVd ,flM dk vf/k'kks"k.k ugha gqvkA vf/k'kksf"kr ugha gq,

,flfVd ,flM dks mnklhu djus ds fy,  1 M NaOH ds 40 mL foy;u dh vko';drk iM+rh gSA ;fn ,flfVd ,flM dk

izR;sd v.kq pkjdksy dh lrg dk P × 10–23 m2 {ks=kQy ?ksjrk gS rks P dk eku _____ gSA

[fn;k x;k gS % pkjdksy ds lrg dk {ks=kQy = 1.5 × 102 m2g–1; la[;k (N
A
) = 6.0 × 1023 mol–1]

Ans. 2500

Sol. Unadsorbed CH
3
COOH moles 

240 1
4 10

1000


  

Adsorbed CH
3
COOH moles 

2 2100 0.5
4 10 10

1000
 

   

Surface area occupy by 1 mole  
2

2

1.5 10

10




Surface area occupy by 1 molecule 

41.5 10

AN


  = P × 10–23

 P = 2500 × 10–23

9. Vessel-1 contains w
2
 g of a non-volatile solute X dissolved in w

1
 g of water. Vessel-2 contains w

2
 g of another

non-volatile solute Y dissolved in w
1
 g of water. Both the vessels are at the same temperature and pressure. The

molar mass of X is 80% of that of Y. The van’t Hoff factor for X is 1.2 times of that of Y for their respective

concentrations.

The elevation of boiling point for solution in Vessel-1 is _____ % of the solution in Vessel-2.

ik=k&1 esa ,d vok"i'khy foys; X ds w
2 
xzke dks w

1 
xzke ty esa ?kksyk tkrk gSA ik=k&2 esa ,d vU; vok"i'khy foys; Y ds

w
2
 xzke dks w

1
 xzke ty esa ?kksyk tkrk gSA nksuksa ik=kksa ds rkieku vkSj nkc leku gSaA X dk eksyj nzO;eku Y ds eksyj nzO;eku

dk 80% gSA buds vius lkanz.k esa X dk okUV gkWQ xq.kd (van't Hoff factor) Y ds okUV gkWQ xq.kd dk 1.2 xquk gSA

ik=k-1 ds foy;u dk DoFkukad dk mUu;u (elevation of boiling point) ik=k-2 ds foy;u dk DoFkukad dk mUu;u dk

_____ % gSA
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Ans. 150

Sol. Let molar mass of Y = 100 x

Molar mass of X = 80 x

Let Van't Hoff factor of Y = 10Z

Van't Hoff factor of X = 12Z

Vessel –1 Vessel –2

 
1b bT iK m   

2b bT iK m  

  
2

1

8012

1000

b

w

xZ K
w

 
 

  
 
 

      2

2
1

1000
10

100
b b

w
T Z K

w x

  
    

  

     2

1
1

1000
12

80
b b

w
T Z K

w x

  
    

  

 
 

1

2

12 100 12

10 80 8

b

b

T

T


  



(T
b
)

1
 is 150% of (T

b
)

2
.

10. For a double strand DNA, one strand is given below:

A G T C A C G T A A G T C
3'5'

The amount of energy required to split the double strand DNA into two single strands is _____ kcal mol–1.

[Given: Average energy per H-bond for A-T base pair = 1.0 kcal mol–1, G-C base pair = 1.5 kcal mol–1, and

A-U base pair = 1.25 kcal mol–1. Ignore electrostatic repulsion between the phosphate groups.]

,d f}jTtqdh; (double strand) lajpuk ds DNA dh ,d jTtqd uhps nh xbZ gS

A G T C A C G T A A G T C
3'5'

bl f}jTtqdh; lajpuk ds DNA dks nks ,d jTtqdksa esa ifjofrZr djus ds fy, dqy _____ kcal mol–1 ÅtkZ dh vko';drk

gSA

[fn;k x;k gS % izfr gkbMªkstu cU/k dh vkWlr ÅtkZ A-T {kkjd ;qxy (base pair) ds fy, 1.0 kcal mol–1, G-C {kkjd ;qxy

ds fy, 1.5 kcal mol–1 vkSj A-U {kkjd ;qxy ds fy, 1.25 kcal mol–1 gSA QkWLQsV lewgksa ds chp esa fLFkj fo|qr izfrd"kZ.k

dks udkj ysaA]

Ans. 41
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Sol. Possibility of two single strand

T

A

C

G

A

T

G

C

T

A

G

C

C

G

A

T

T

A

T

A

C

G

A

T

G

C

Total energy = (B.E
H bond of A – T

  × Number of A = T pair × 2)

                        +

                       (B. E 
H bond of G – C

 × Number of G   C pair × 3)

= (1 × 7 × 2) + (1.5 × 6 × 3) = 41 Kcal.

11. A sample initially contains only U-238 isotope of uranium. With time, some of the U-238 radioactively decays

into Pb-206 while the rest of it remains undisintegrated.

When the age of the sample is P × 108 years, the ratio of mass of Pb-206 to that of U-238 in the sample is

found to be 7. The value of P is _____.

[Given: Half-life of U-238 is 4.5 × 109 years; log
e
2 = 0.693]

,d uewus esa izkjEHk esa ;qjsfu;e dk dsoy U-238 leLFkkfud (isotope) gSA le; ds lkFk dqN U-238 ds ukfHkdh; {k; ds

QyLo:i Pb-206 curk gS vkSj U-238 dh dqN ek=kk vfo?kfVr jg tkrh gSA uewus dh vk;q P × 108 o"kZ gksus ij] mlesa

Pb-206 vkSj U-238 ds Hkkj dk vuqikr 7 ik;k x;kA P dk eku _____ gSA

[fn;k gS % U-238 dh v/kZ vk;q 4.5 × 109 o"kZ gS( log
e
2 = 0.693]

Ans. 143

Sol. Mass ratio of Pb to U is 7

Mass = Moles × molar mass

Pb

U

nMassPb 207 7
= × =

MassU n 238 1

Pb

U

n 238×7
=

n 207

Pb

U

n
ln 1+ = λt

n

 
 
 

9

238×7 ln 2
ln 1+ = × t

207 4.5 10

 
 

 

9ln9.05
4.5 10

ln2
t   

= 142.65 ×108 years
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P =142 to 144

12. Among [Co(CN)
4
]4–, [Co(CO)

3
(NO)], XeF

4
, [PCl

4
]+, [PdCl

4
]2– , [ICl

4
]– , [Cu(CN)

4
]3– and P

4
 the total num-

ber of species with tetrahedral geometry is _____.

[Co(CN)
4
]4–, [Co(CO)

3
(NO)], XeF

4
, [PCl

4
]+, [PdCl

4
]2– , [ICl

4
]– , [Cu(CN)

4
]3– rFkk P

4 
esa prq"Qydh; T;kfefr

okys Lih'kht dh dqy la[;k _____ gSA

Ans. 4

Sol. [Co(CN)
4
]4–

Co  3d7 4s2

CN–  strong field ligand
After pairing and excitation
dsp2 hybridisation

[Co(Co)
3
(NO)] sp3 XeF

4
  sp3d2 (PCl

4
)+  sp3 [PdCl

4
]2–  sp3d2

[ICl
4
]– – sp3d2 [Cu(CN)

4
]3–  3d10  sp3 P

4
  tetrahedral

tetrahedral species are 4.

13. An organic compound P having molecular formula C
6
H

6
O

3
 gives ferric chloride test and does not have in-

tramolecular hydrogen bond. The compound P reacts with 3 equivalents of NH
2
OH to produce oxime Q.

Treatment of P with excess methyl iodide in the presence of KOH produces compound R as the major

product. Reaction of R with excess iso-butylmagnesium bromide followed by treatment with H
3
O+ gives

compound S as the major product.

The total number of methyl (–CH
3
) group(s) in compound S is _____.

,d dkcZfud ;kSfxd P, ftldk v.kqlw=k (molecular formula) C
6
H

6
O

3 
gS] Qsfjd DyksjkbM ijh{k.k nsrk gS vkSj blesa var%

vkf.od gkbMªkstu vkca/k (intramolecular hydrogen bond) ugha gSA ;kSfxd P, NH
2
OH ds 3 rqqY;kad ls vfHkfØ;k djus

ij vkWfDle (oxime) Q cukrk gSA KOH dh mifLFkfr esa] esfFky vk;ksMkbM dh vkf/kD; ek=kk  ls P dk foospu (treatment)

djus ij eq[; mRikn ;kSfxd R curk gSA ;kSfxd R dh vfHkfØ;k vkblks&C;wVkbyeSXuhf'k;e czksekbM (iso-butylmagnesium

bromide) dh vf/kd ek=kk ls djsu ds i'pkr H
3
O+ ls foospu dkjkus ij eq[; mRikn ;kSfxd S curk gSA

;kSfxd S esa esfFky (–CH
3
) lewg¼gksa½ dh dqy la[;k _____ gSA

Ans. 12
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Sol. O

O O

(Excess)
MeI

KOH

O

O O

(R) 

(P) 

3H NOH2

MgBr

N – OH

HO – N N – OH
OHHO

HO

(S) 

(Q) 
No of methyl group = 12

SECTION – 4  (MAXIMUM MARKS: 12)

• This section contains TWO (02) paragraphs.

• Based on each paragraph, there are TWO (02) questions.

• The answer to each question is a NUMERICAL VALUE.

• For each question, enter the correct numerical value of the answer using the mouse and the on-screen virtual

numeric keypad in the place designated to enter the answer.

• If the numerical value has more than two decimal places, truncate/round-off the value to TWO decimal

places.

• Answer to each question will be evaluated according to the following marking scheme:

Full Marks :  +3 If ONLY the correct numerical value is entered in the designated place;

Zero Marks :  0   In all other cases.

“PARAGRAPH-I”

An organic compound P with molecular formula C
9
H

18
O

2
 decolorizes bromine water and also shows positive

iodoform test. P on ozonolysis followed by treatment with H
2
O

2
 gives Q and R. While compound Q shows

positive iodoform test, compound R does not give positive iodoform test. Q and R on oxidation with pyridinium

chlorochromate (PCC) followed by heating give S and T, respectively. Both S and T show positive iodoform
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test.

Complete copolymerization of 500 moles of Q and 500 moles of R gives one mole of a single acyclic copoly-

mer U.

[Given, atomic mass: H =1, C = 12, O =16]

,d dkcZfud ;kSfxd P, ftldk v.kqlw=k (molecular formula) C
9
H

18
O

2 
gS] czksehu okVj (bromine water) dks jaxfoghu

djrk gS rFkk vk;ksMksQkWeZ (iodoform) ijH[k.k nsrk gSA P dk vksT+kksuhdj.k (ozonolysis) ds i'pkr H
2
O

2 
ls foospu (treat-

ment) djus ij Q vkSj R curs gSaA Q vk;ksMksQkWeZ ijh{k.k nsrk gS ysfdu R vk;ksMksQkWeZ ijh{k.k ugha nsrk gSA Q vkSj R

fijhMhfu;e DyksjksØksesV (PCC) ds }kjk vkDlhdj.k djus ds i'pkr xeZ fd;s tkus ij Øe'k% S vkSj T nsrs gSaA S vkSj T nskuksa

gh vk;ksMksQkWeZ (iodoform) ijh{k.k nsrs gSaA

Q ds 500 eksyksa vkSj R ds 500 eksyksa dk iw.kZ lgcgqydhdj.k (copolymer) U dk ,d eksy (moles) curk gSA

[fn;k gS] ijek.kq Hkkj % H =1, C = 12, O =16]

14. Sum of number of oxygen atoms in S and T is _____.

S vkSj T esa vkWDlhtu ijek.kqvksa dh la[;k dk ;ksx ____ gSA

Ans. 2

Sol. H C –HC –H C – HC = CH –H C – CH –H C–CH  3 2 2 2 3

OH OH

P

O /Zn, H O  3 2 2

H C –CH –CH  – C – OH + HOOC – H C –HC–CH  –CH  3 2 2 2 3

OH O OH

RQ
(i) PCC
(ii) , – CO2

(i) PCC
(ii) , – CO2

O

S

O

T

Sum of oxygen atom in S & T = 2



Question Paper With Text Solution (Chemistry)
JEE Adv. May 2024 | 26 May Paper-2

Page No. 16

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

15. The molecular weight of U is _____.

U dk v.kq Hkkj _____ gSA

Ans. 93018

Sol. 500 mol of Q + 500 mole of R  U (1 mole)

Weight of U = wt
Q
 + wt

R
 – 

2H Owt

wt
R
 = 500 × 118 = 59000

wt
Q
 = 500 × 104 = 52000

2H Owt  removed during polymerisation = (2 × 500 – 1) × 18 = 17982 (Considering acyclic polymer)

wt
U
 = 52000 + 59000 – 17982 = 93018

“PARAGRAPH-II”

When potassium iodide is added to an aqueous solution of potassium ferricyanide, a reversible reaction is

observed in which a complex P is formed. In a strong acidic medium, the equilibrium shifts completely towards

P. Addition of zinc chloride to P in a slightly acidic medium results in a sparingly soluble complex Q.

iksVSf'k;e QsjhlkbukbM ds tyh; foy;u esa iksVSf'k;e vk;ksMkbM dks feykus ij] ,d mRØe.kh; vfHkfØ;k (reversible

reaction) gksrh gS ftlesa ,d ladqy P curk gSA izcy vEyh; ek/;e esa lkE;koLFkk iw.kZ :i ls P dh fn'kk esa foLFkkfir gks tkrh

gSA {kh.k vEyh; ek/;e esa ladqy P esa ftad DyksjkbM feykus ij ,d vYi foy;s ladqy Q izkIr gksrk gSA

16. The number of moles of potassium iodide required to produce two moles of P is _____.

P ds nks eksyksa dks cukus ds fy, vko';d vk;ksMkbM vk;uksa ds eksyksa dh la[;k ____ gSA

Ans. 3

Sol.    3 4 36 6
3 2 2

( )

KI K Fe CN K Fe CN KI

P

        

17. The number of zinc ions present in the molecular formula of Q is _____.

Q ds v.kqlw=k esa ftad vk;uksa dh la[;k ______ gSA

Ans. 2 or 3

Sol.    

 
2 4 2 3 66 2

3 2

.

ZnCl K Fe CN K Zn Fe CN

Excess White ppt Q

      

   

 
2 4 2 66

2 4

.

ZnCl K Fe CN Zn Fe CN KCl

White ppt Q

      


